Botkyrka BS
Partavling 2021-08-12

Partavling, 5 bord, 9 par. Antal brickor: 27. Medel: 81.0. Frirond (*) ger egen procent.

Plac Par Poéang % Namn MID Klubb
1 5 97.9 60.42  Else Kovacs - Anders Kovacs 55590 56602 Trosa BS
2 8 93.4 57.64  Ingrid Bjorklund - Anne-Marie Stockhaus 2393 9139 Botkyrka BS
3 10 92.3 56.94 Hakan Lager - Gunnar Stockhaus 2236 2001 Roénninge BS - Botkyrka BS
4 9 88.9 54.86 Jonny Olsson - Cecilia Fidler 200080 68067  Botkyrka BS - Akers BK
5 3 85.5 52.78 Anders Gustafzon - Georges Tabet 29907 31962  Botkyrka BS
6 4 76.5 47.22  Suzanne Birberg - Daga Forsslund 35869 200011 Botkyrka BS
7 7 70.9 43.75  Vivian As - Kristina Treufeldt 8617 2079 BK Stjarnskotten - Stureby BK
8 2 61.9 38.19 Kenny Tessmar - Leif Larsson 200075 200069 Botkyrka BS
8 6 61.9 38.19  Jouko Tokkari - Sture Tibblin 3708 200072 Botkyrka BS
1 Nord Ingen 2 Ost NS 3 Syd OV 4 Vast Alla
Par  Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang
52 3¢ 0= -110 5.0 1.0 52 24 N+1 140 6.0 0.0| 52 4v S+2 480 6.0 00|10 2 3v S= 140 6.0 0.0
73 2¢ O+1 -110 5.0 10| 46 2¢ V-1 50 40 20| 46 5vS= 450 3.0 30| 57 3NV-1 100 3.0 3.0
98 2¢ V+2 -130 2.0 40| 73 3#0+1 -130 2.0 40| 98 4v N+1 450 30 30| 84 340-1 100 3.0 3.0
46 54DS-2 -300 0.0 6.0 98 3vy N-5 -500 0.0 6.0 73 4v S= 420 0.0 60| 63 2NV= -120 0.0 6.0
10 - 34 10 - 34 10 - 34 -9 3.3
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vast Ingen
Par  Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang
84 2¢DN= 180 6.0 0.0 84 4¢ O-1 100 6.0 0.0| 68 34 O-2 200 6.0 0.0(10 3 3NO-2 100 6.0 0.0
57 2vy N= 110 3.0 30|102 2¢vS-1 -50 4.0 20| 95 2¢ V+1 -110 4.0 20| 68 4v V-1 50 3.0 3.0
10 2 2¢ N+1 110 3.0 30| 57 4¢ O= -130 1.0 50|10 3 2NO +1 -150 2.0 40| 74 3s4V-1 50 3.0 3.0
63 240= -90 0.0 6.0| 6 3 2¢ O+2 -130 1.0 50| 7 4 54 N-2 -200 0.0 6.0| 95 3¢ O+1 -130 0.0 6.0
-9 33| -9 33| 2 - 2.3 2 - 2.3
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS
Par  Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang
74 3v O+1 -170 4.0 20(10 4 4v S+2 680 6.0 0.0| 32 24DS+3 770 6.0 00| 32 340-1 50 6.0 0.0
95 2vV+2 -170 4.0 20| 8 5 3NN+2 660 40 20|10 4 54DV -2 300 40 20|10 4 24 O= -110 4.0 2.0
10 3 2v O +2 -170 40 20| 32 5¢vS= 650 1.0 50| 79 24 N+3 200 20 40| 85 24 O+2 -170 2.0 4.0
68 4v O= -620 0.0 6.0 79 4v N+1 650 1.0 50| 85 34 N+1 170 0.0 60| 79 INN-2 -200 0.0 6.0
2 - 2.3 -6 23| -6 23| -6 2.3
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV
Par  Kontr Res Poéng | Par Kontr Res Poéng | Par Kontr Res Poéng | Par Kontr Res Poéng
27 3NS+1 630 40 20| 43 5v V-1 50 6.0 00| 43 3NV-2 100 6.0 0.0{10 6 INN+1 120 6.0 0.0
96 3NS+1 630 40 20| 96 44DS-1 -100 4.0 20| 96 3&V= -110 4.0 20| 54 INN= 90 3.0 3.0
10 5 3NN+1 630 40 20| 27 4v 0= -420 2.0 40| 27 2NV= -120 2.0 40| 92 INN= 90 3.0 3.0
43 5¢ N-1 -100 0.0 6.0({105 4v V+1 -450 0.0 6.0(105 INV+2 -150 0.0 6.0 38 2vy N-1 -50 0.0 6.0
8 - 35 8 - 3.5 8 - 35 -7 2.6
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla
Par  Kontr Res Poéng | Par Kontr Res Poéng | Par Kontr Res Poéng | Par Kontr Res Poéang
106 3¢ N= 110 6.0 0.0 38 4v0-1 50 6.0 00| 49 24 N-1 50 4.0 20| 28 34 0= -140 3.0 3.0
54 3¢ S-1 -50 4.0 20| 54 Pass 20 40| 65 34 N-1 -50 4.0 20| 49 34 0= -140 3.0 3.0
92 2v V= -110 2.0 40| 9 2 Pass 20 40|107 2vS-1 50 4.0 20| 65 34 0= -140 3.0 3.0
38 2vV+2 -170 0.0 6.0 |10 6 Pass 20 40| 28 24 V= -110 0.0 6.0(107 34 O= -140 3.0 3.0
-7 26| -7 26| -3 32| -3 3.2
21 Nord NS 22 Ost OV 23 Syd Alla 24 Vast Ingen
Par  Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang
28 3vV= -140 5.0 10| 76 2¢ O+2 -130 6.0 00|10 8 3¢DO-4 1100 6.0 00|10 8 5¢DS= 550 6.0 0.0
49 1lv V+2 -140 50 10| 24 34 0= -140 4.0 20| 76 3NN+1 630 40 20| 39 5¢ S= 400 4.0 2.0
107 3NO= -400 2.0 40| 39 2¢ O+3 -150 2.0 40| 24 340-1 100 20 40| 24 4¢ S= 130 2.0 40
65 4v V= -420 0.0 6.0(10 8 INO +4 -210 0.0 6.0 39 3NN-1 -100 0.0 60| 76 66DS-2 -300 0.0 6.0
-3 32| 5 - 3.6 5 - 3.6 5 - 3.6
25 Nord OV 26 Ost Alla 27 Syd Ingen
Par  Kontr Res Poang | Par Kontr Res Poang | Par Kontr Res Poang
87 44DV-4 1100 6.0 0.0| 35 34 V+2 200 6.0 0.0| 87 44 S= 420 6.0 0.0
6 2 4v N+1 450 40 20| 62 44 V= -620 4.0 20| 35 INN+2 150 4.0 2.0
35 4v S= 420 1.0 5.0{10 9 44 V+1 -650 2.0 40| 6 2 INN+1 120 1.0 5.0
109 4y N= 420 1.0 50| 87 4v V+2 -680 0.0 6.0(10 9 INN+1 120 1.0 5.0
4 - 2.8 4 - 2.8 4 - 2.8
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